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Q3 Model Solution – 25 Marks Marking Notes 
(a) 
 
 
 

 
6

sin 17°
=

|ܨܪ|
sin 35°

 

|ܨܪ| =
6 sin 35°
sin 17°

= 11∙77 

11∙77
sin 95°

=
ݔ

sin 33°
 

ݔ =
11∙77(sin 33°)

sin 95°
 

ݔ = 6∙43 m 

 
Scale 15C (0, 5, 10, 15) 
Low Partial Credit:  
|ܧܪܨ∠| = 17° 
|ܨܪܩ∠| = 33° 
Some relevant substitution into relevant 
formula 
 
High Partial Credit:  
 found and stops |ܨܪ|
|ܧܪ| = 16∙17  found and stops 
Incorrect value of |ܨܪ| (or |ܧܪ| ) used 

correctly to find ݔ   
 

(b) 
 
 
 
 
 

 

|ܣܱܤ∠| = 60° => |ܣܱܥ∠|   = 30° 

sin ܣܱܥ∠ =
ݎ

ܱܦ
=

1
2

 

⟹ |ܱܦ|  =  ݎ2

⟹ |ܥܱ|  =  ݎ3

Area ܿ =  ଶݎߨ

Area ݏ = ଶ(ݎ3)ߨ =  ଶݎߨ9

Area ݏ ∶ Area ܿ = 9 ∶ 1 ⟹ ݇ = 9  
 

 
Scale 10D (0, 3, 5, 8, 10) 
Low Partial Credit: 

30° 
Area ܿ =  ଶݎߨ
 

Mid Partial Credit: 
|ܱܦ| =  ݎ2

 
High Partial Credit: 

|ܥܱ| =  ݎ3

 

  


